KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

September 1999

Operator: License # 31191	API No. 15 - 007-23037-00-00
Name: R&B Oil & Gas	
Address: PO Box 195	
City/State/Zip: Attica, Kansas 67009-0195	NE NW NW Sec. 26 Twp. 32 S. R. 10 East Wes
Purchaser:	feet from S / (N) (circle one) Line of Section
Operator Contact Person: Randy Newberry	,, , , , , , , , , , , , , , , , , , , ,
Phone: (<u>620</u>) <u>254</u> –7251	Footages Calculated from Nearest Outside Section Corner:
Contractor: Name: Duke Drilling Co., Inc.	(circle one) NE SE (NW) SW Lease Name: Werner "B" Well #: 2
License: 5929	Lease Name: Well #: Field Name: McGuire-Goemann East
Wellsite Geologist: Tim Pierce	Producing Formation: Mississippi
Designate Type of Completion:	
X New Well Re-Entry Workover	Elevation: Ground: 1440 Kelly Bushing: 1448
X Oil SWD SIOW Temp. Abd.	Total Depth: 4525 Plug Back Total Depth: 266
X Gas ENHR SIGW	Amount of Surface Pipe Set and Cemented at 266 Fee
Ory Other (Core, WSW, Expl., Cathodic, etc)	Multiple Stage Cementing Collar Used? ☐ Yes ★No.
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion conserved in the first feet
Operator:	If Alternate II completion, cement circulated fromsx dmtsx dmt
Well Name:	A 1 1 1 C 1 == 271 ·····
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan 🚜 U
Deepening Re-perfConv. to Enhr/SWD	(Journal to conceiled from the Meserve Pil)
Plug Back Plug Back Total Depth	Chloride content ppm Fluid volume bbls
Commingled Docket No.	Dewatering method used Let Dry
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
07-12-06 07-20-06 8-4-06	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R East West
Recompletion Date Recompletion Date	County: Docket No.:
Information of side two of this form will be held confidential for a period o 107 for confidentiality in excess of 12 months). One copy of all wireline log TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wel	
il requirements of the statutes, rules and regulations promulgated to regulation are complete and correct to the best of my knowledge.	ulate the oil and gas industry have been fully complied with and the statements
ignature: Landy / lewlerry	KCC Office Use ONLY
tle: President Date: 10-23-06	
ubscribed and sworn to before me this 23 day of October	Lond of Confidentiality Attached
day of UCTO DE T	If Denied, Yes Date:
	Wireline I on Decelved
JANE SW	Wireline Log Received RECEIVED

Operator Name:R	&B Oil & Gas,	$\mathcal{H}(1)$	Tease Name	Werner	"В"	. Well # #	2 ,
Sec. 26 Twp. 3			County:		unty, Kansa	s	
tested, time tool open temperature, fluid rece	and closed, flowing overy, and flow rates	nd base of formations po and shut-in pressures, if gas to surface test, a nal geological well site r	whether shut-in pulong with final ch	ressure reached	static level, hydros	static pressu	reś, bottom hole
Drill Stem Tests Taken (Attach Additional Sheets)		∑ Yes	Æ3	₹ Log Formation (Top), Depth and Datum			Sample
Samples Sent to Geo	•	∏Yes kr No	Na	me		Тор	Datum
Cores Taken		☐ Yes ☑ No ☑ Yes ☐ No	Mi	Mississippi			(-2900)
		nsated Porosi Livity	.ty				
		CASING Report all strings set-c	RECORD (XX)		ction, etc.		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacjs Used	Type and Percent Additives
Surface	12-1/4"	8-5/8"	23#	2661	60/40 Poz	180	3%cc 2%ge1
Production	7-7/8"	5-1/2"	14#	45241	ASC	125	6%ge1
		ADDITIONAL	OF MENTING AND				
Purpose: Perforate	Depth Top Bottom	Type of Cement	#Sacks Used	Type and Percent Additives			
Protect Casing Plug Back TD Plug Off Zone							
Shots Per Foot PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated				Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth			
2 4370-4392			200 gal Mud Acid				
			<u>. </u>	Frac: 5	0sxs 100	Mesh	
				280sxs 12/20 Sand			
TUBING RECORD	Size 2 7/8	Set At 4410	Packer At	Liner Run	Yes X No		
Date of First, Resumerd	Production, SWD or En -0.6	hr. Producing Meth	ood Flowi	ng Pump	ng Gas Litt	Ot#	ner (Explain)
Estimated Production		bls. Gas				as-Oil Ratio	Gravity
Per 24 Hours	10	90		120		_1	26
Disposition of Gas	METHOD OF CO			Production Inte	rval		
☐ Vented ☑ Sold (If vented, Sum	Used on Lease ait ACO-18.)	Open Hole Other (Special	X Реп.	Dually Comp.	Commingled		

ALLIED CEMENTING CO., INC.

16882

O P.O. BOX 31 SERVICE POINT: RUSSELL, KANSAS 67665 Medicine Loca e. KS CALLED OUT RANGE JOB FINISH ON LOCATION 325 10 V 4:30 pm COUNTY STATE LEASE WERNER BWELL# LOCATION SHARON KS E TO SANDPLAN RD OLD OR NEW (Circle one) OWNER (LB DIL + 645 CONTRACTOR DYKS TYPE OF JOB SUR FACE 266 121/4 HOLE SIZE **CEMENT** 266 **CASING SIZE** DÈPTH AMOUNT ORDERED 180 SX 60:40:2 + 3%6 **TUBING SIZE** DEPTH DRILL PIPE DEPTH TOOL **DEPTH** PRES. MAX **MINIMUM** @ 10.65 COMMON. MEAS. LINE SHOE JOINT **POZMIX** CEMENT LEFT IN CSG. GEL @ 46.65 PERFS. **CHLORIDE** @ 46.60 DISPLACEMENT 15 3/4 BBLS ASC FRESH H20 @ **EQUIPMENT** PUMPTRUCK #343 CEMENTER DAVID FILIO STEVE KRAMER **BULK TRUCK** .CK MARANDA BULK TRUCK DRIVER HANDLING REMARKS: PIPL ON BOTTOM, BREAK CIRC., MIX IBOSK CLMINT, STOP PHMB, RELESE PLAS, DIG PLACE SERVICE 153/4 BOLS + VASHAP ON TOO OF PLUE, SHUT N & 15 3/4 BOLS FRESS HODDISP, RELEASE 266 DEPTH OF JOB LING DRESORL. PUMP TRUCK CHARGE 815.00 CEMENT 0:0 CLIEC **EXTRA FOOTAGE** @ 5.00 HEAD RENTAL @100,00 100,00 CHARGE TO: R+B OIL + 645 TOTAL 975,00 STREET. PLUG & FLOAT EQUIPMENT

To Allied Cementing Co., Inc.

You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.

ANY APPLICABLE TAX
WILL BE CHARGED
UPON INVOICING

WOODEN PLUS

MANIFOLD

TOTAL 60,00

@60,00 60.00

TOTAL CHARGE

DISCOUNT

IF PAID IN 30 DAYS

SIGNATURE John J. Chandras ten.

PRINTED NAME

RECEIVED OCT 2 4 2006 KCC WICHITA ALLIED CEMENTING CO., INC. 23773

EMIT TO	P.O. BOX 31 🤝	
	RUSSELL, KANSAS 6766	55

SERVICE POINT: MEO. COOSE

PRINTED NAME

	1440.00
DATEOT/20/06 SEC_26 TWD RANGE 10W	CALLED OUT ON LOCATION JOB START JOB FINISH 11:30 AM 6:00 FM 10:00 FM
LEASE WELL # B-2 LOCATION SHAP	RON, ZEAST ON 160 BARBER KANSAS
OLD OR NEW (Circle one) TO SAND PLVIU	Ro. I SOUTH, YE EAST
A 1- # A	1. B 0
	OWNER RAPO OIL 4 GAS
TYPE OF JOB PRODUCTION (ASING HOLE SIZE 118" T.D. 45.25	CEMENT
CASING SIZE 5 1/2" 14# DEPTH 4525	AMOUNT ORDERED 500 GAIS MUD GEAN
TUBING SIZE DEPTH	505V 60:40:6 + 4% 5MS
DRILL PIPE DEPTH	1255 ASC +5# KOL-SEAC + 17 BASK
OOL DEPTH	
RES. MAX 200# MINIMUM	COMMON 30 A @ 10.65 319.50
MEAS. LINE SHOE JOINT 31. 01 CEMENT LEFT IN CSG.	POZMIX 20 @ 5.80 116.00
ERFS.	GEL 3 @16.65 49.95
DISPLACEMENT /// BB/s. 2% KC/	CHLORIDE@
EQUIPMENT	KOI-SAL 625 @ 70 437.50
	BAS BLOCK 82# @ 8.90 729.80
UMPTRUCK CEMENTER LEVEN PLUNGALO	T MUD CLEAN 500 @ 1.00 500.00
3/3 HELPER TEUF KRAMER	CLAPRO 14 @ 25.00 350.06
ULK TRUCK	DEFORMER 18# @ 7.20 129.60
364 DRIVER JR. TREEMAN	5MS 17# @ 1.95 33.1S
ULK TRUCK	@`
DRIVER	HANDLING 215 @ 190 408.50
	MILEAGE 215-MINIMUM 240-00
REMARKS:	TOTAL 49S1.SC
DUP 20 BB/s 240 KCL, 3 BB/s WATER	SERVICE
LUB RAT & MOUSE HOLES WITH 25 SI	SERVICE
Jul 25 st 60:40:6+.4% 5MS	DEPTH OF JOB
JAP 125 x ASC+5#K-5+17 % CASKING	PUMP TRUCK CHARGE /750.00
WASH YUMP Y LINES - DESPUBLED T BPUL - STOW TO 5 BPUL I PRESSURE	EXTRA FOOTAGE@
DAM - 2000 TO 2 BAM / PRESSURE	MILEAGE 12 @ 5.00 60.00
Sur Sun Ci I was Butter 1000	MANIFOLD @ 100.00 100.00
	HEAD KENTAL @100.00 100.00
HARGE TO: R+O OIL + OAS	
0.00	TOTAL <u>1910.80</u>
REET P.O. BOX 19-3	TOTAL TTOTAL
TY HITZCA STATE KANSAS ZIP 61009	
	PLUG & FLOAT EQUIPMENT
	5/3*
	1-60TDE SHOE @ 160.00 160 00
All: 10 c r	7-710 00 250.00 250.00
Allied Cementing Co., Inc.	1-TRI 65.00 65 AD
ou are hereby requested to rent cementing equipment	@ @
d furnish cementer and helper to assist owner or ntractor to do work as is listed. The above work was	ANY APPLICABLE TAX
one to satisfaction and supervision of owner agent or	WILL BE CHARGED TOTAL 895.00
ontractor. I have read & understand the "TERMS AND	UPON INVOICING
ONDITIONS" listed on the reverse side.	TAX
	TOTAL CHARGE
	TOTAL CHARGE
	DISCOUNT IF PAID IN 30 DAYS
GNATURE VI Tim Piere	

RECEIVED
OCT 2 4 2006
CCC WICHITA